T
- e " — e ~ g g

e

T——

A'-"..'F*.._ . A.“g’-ﬁgﬁh_ A L 200601037

T Waaen el K108

i To = —1l0-200
T

fPer‘\'Jmlm - &‘G\Jo\ L_?Pm“gml) - Modal lccj"'
- (1000 -2000) -250 > Y9s©

Ta = oo -300 = T-7o0

Te = SO0 - 200 - 9.800

T¢ - S0op -0  “£00

2  Mdode dewp PVP

4150 £ 4.0 , 4800 4 _S_‘ef_’v_] _ lo-200
I 4(0.22) RACZEAN )1 lo.22)* 1t (0227

. [2.891 t4988 1 999 9988 ] — lo-200

w_“g ~ [0 . 200
7. 316
I’h’rddfl. 24
224 X 3.9t * )- 114

% X p9l¢ = 1973
R » 1993y 28y - 0,22

(' 1379
b l0.200 1. 750 + 9.0 4 4. goo 4 S0l %
14(0;22)' | + {U{ﬂ,‘ "" fu'gj_)’ ‘ 410!‘:.) .

10.200 — 18-11¢€

s. Tevsanaan A (Al Pk Varlue)

o [0% MNPY - 3362000 . 3362000 i 3 3462.000 4 3.3¢z000 .10t
(t40.)’ (1+01)° (t+o)’ (1+0-1)°

362.000 + 3-3(2.000=10.000 000

. 3.362.000 + _£.362000 13
M| I2l ). 33| 1.964 |

i 2.056.¢65 12.119.512 4 2. <22019F 2:263.231 - [0.000-000
. (D.64).988,— (0.000.000 = 63l -988

o 12% NP - 2.342000 ¢ 2.362.000 + 3362000 ¥ 3.3 ..IOJ(
(110.12)"  efito12y*  (1to.2)? (1t+0.2)?

. 2.362000 + £.362.000 +%5.562.000 + 3342 000 - L0 if
112 |, 25494 {404 9 1.8393



\\NVVWALLLGLLL LI DI IS SIS

* 1020 61¢ ~ (o.000.000

20 414
s IPR . gzl.985 w12 %A
2. 61¢

. 2e 9 Y Do (Pnﬁa dijalnkan )

Peﬂmhnan(n
ks masuk | -3 =0
Thile 4 > 14605000
v (07 MNPV - 13.605.000 _ 0.000. 000
(1 40.0)!
» 9.292.398 - [oo0L VO = ~1.03.60|
vl Y NPV s |5.605.000 - W.000.000
ff-w,u.)*
« 13 £os. 000
l.8138
» 8646 . ¢1s ~loovv.oc0 - - 355 1H

* $.00] «}és‘ 4 2.40015C + 2393 005 +2,13€4€¢ ~ (o 5



